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58. Given a positive integer 7 such that i” = 1, which of the
following statements about 7 must be true?

A. T _ C Y i/ lj“{) (Note: i*=-1)
(\e/ £ Rt 'F. /.When n is divided by 4, the remainder is 0.
+“'When n is divided by 4, the remainder is 1.

B. 2n
H. When 7 is divided by 4, the remainder is 2.
C. 4n J. When 7 is divided by 4, the remainder is 3.
K. Cannot be determined from the given information
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59. For —g <0< Z, |sin®] =1 is true for all and only

§5. What is the period of the function f(x) = csc(4x) ?
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56. At the school carnival, Mike will play a game in which 2
he will toss a penny, a nickel, and a dime at the same the values of 0 in which of the following sets?
time. He will be awarded 3 points for each coin that .
lands with heads faceup. Let the random variable x A r )]l \ s\i P e
represent the total number of points awarded on any KA {"5 ’ 5} ) : 4 ‘(’I (ff /s rSH
toss of the coins. What is the expected value of x 7 Y% I A Sl j e A
e e J
F 1 ] [ U _ 3./
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Y. 6 - \ E. The empty set
K. 9
—
57. For what positive real value of k, if any, is the 60. Ray PK bisects LLPM, the measure of ZLPM is 11x°,
P o— Tih TR AL and the measure of ZLPK is (4x + 18)°. What is the
eterminant of the matrix | 5 » measure of ZKPM ? L vz
(Note: The determinant of matrix [‘C’ Z] equals ad — bc.) F. 12° ' ’
A. 3 IR TP G. 282°
. 4 -/ i e !
B -ﬁ‘ 1€ H. 42°
c. 12 . ! . y f=
e d] : i R S
D. Vi2 )¢ (4 WM o J. 6l35° i gyt
E. There is 1/1‘? such value of k. ./ [N Cf/' . K. 66° 1y = 7 3¥A
L3t -3 _g . R A T A L
q4-17 = =2- OPprs S ¥
g{ﬁ. ' - END OF TEST 2
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